Area and Volume
11.2 — Solids of Revolution (Disc Method)

Volume of a Solid of Revolution Disc Finding the volume of a solid of revolution.
1. Sketch the area bounded by the equations. y = x?,
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Where R(x) or R(y) is the distance between the axis of -1
revolution and the outside of the object. 2+

1) Graph all boundaries -3
2) Find b (upper bound) and a (lower bound) from -

visual inspection of graph or by setting

boundaries equal to each other. 2. Revolve it around the x-axis to create a solid.
3) Find R(x) 3. What does the area of a cross section look like?

a. If axis of rotation is x-axis, R(x) = f(x)

b. If axis of rotationis y = a, R(x) = |f(x) — al Circ'C

OR
4. What is the area of a circle?

Find R(y)

a. If axis of rotation is y-axis, R(y)=f(y) _ (fl'

b. If axis of rotationis x = b, R(y) = |f (y) — b| A <l
4) Find Volume 5. What is the radius of this circle?
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=b 6. What is the area of one cross-section?
Vol = R(y)]*d T
otume = [ R dy ()
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7. What is the volume of the solid?

V= gn{x"zolx
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Find the volume of the solid formed by revolving the given
boundaries about the given axis of rotation.

1. y=x+1,y=0,x =0,x = 2. Revolve about the x- 2. y=3—x%y=2,x=0,x = 1. Revolve about the
axis. \ liney = 2.
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3. x=2—-vy%x=1. Revolve about the linex = 1. 4, x =2 —1vy? x = —2. Revolve about the line x = —2.
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